
MTH 161 pace of class
26 class meetings, not counting exam days
27 textbook sections
27/26=1.0385
About 1 textbook section per class meeting
Homework: get PDF textbook, read 1.1, skim 1.2
     In Canvas, go to Access Pearson and follow the 
instructions
___________________________________
NOVA ALL ACCESS TEXTBOOK PROGRAM: When you register for classes each semester, 
you’re automatically enrolled in NOVA All Access and charged a fee of $22.50 per credit hour. The 
fee will appear on your student account, along with your tuition and other fees. YOU need to decide 
if the fee benefits you. And YOU need to opt out if it does not save you money. Complete details 
about the NOVA All Access program are available here.

How do you determine if the program saves you money? Use this Google Sheets 
calculator tool to decide whether the All Access cost is higher than your materials would cost to 
get on your own. Here is a video tutorial about how to use the Google Sheets calculator tool.

How do you opt out if it does not save you money? If the program does not save you 
money, YOU CAN OPT OUT and get your money back to buy your textbooks 
independently. For most students, the opt out deadline will be February 6. Click here and click 
a SMALL link just above FREQUENTLY ASKED QUESTIONS that says “Opt Out of NOVA All-
Access.”  
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EXPLAIN TO YOUR STUDENTS HOW TO USE THE “CALCULATOR” TOOL: The NOVA All 
Access Calculator Tool is designed to guide students to make an informed choice about their 
textbooks. When they click on the link, they will be asked “Would you like to make a copy of NOVA 
All Access Calculator?” That will lead them to a tool to guide them through figuring out whether the 
program benefits them. Here is a video tutorial to guide students.
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Your Name   MDE 61  bonus quiz 1
Write each problem. Show calculations.
Put a box around each answer.Let 𝑓(𝑥) = 2𝑥 − 1.1.

Evaluate 𝑓(3).

Solve and show your check for 2𝑥 − 1 = 0.2.
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Simplify √12⎯⎯⎯ 
.3.

4.Find the slope of the line 2𝑦 − 𝑥 = 4.
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Simplify ଶ ଷ⁄

ଷ ସ⁄
⎯⎯⎯.5.
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